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U.G. 5th Semester Examination - 2020

PHILOSOPHY

[HONOURS]
Course Code : PHIH-CC-T-12

Full Marks : 60 Time : 21 Hours

The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in

their own words as far as practicable.

1.  Answer any ten questions: 2x10=20
- weifl @es e mie ¢

a)  What is set? Give an example.

AT (set) I AT 2 THR W€ |
b)  What is empty set?
W A 52
c¢) What do you mean by 'A~B'?
'A~B' T=109 6 (IR 2

d) Why Relation of Membership is not Transitive?

N AATSIF TAFE (& AT (Transitive) I&Tl
QA 12
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g)
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If A is any set, what are the following?
A I @ @ @@ (set) =W O FFel &
2(J?

ANA

AUA

What is Domain of Individuals?

275t 2 (Domain of Individual) <10 & @i 2

Translate the following statements into symbolic

form following set notation:

HIe AT (16 o TP ARE T SFIE
AP 9 2

1) Some American wine drinkers are
Philosophers.

CRI CI SICaIfrplel sty »i13 =2 wiiefferes |
[ A= The set of all American
P= The set of all Philosophers
W=The set of all people who drink wine]
11)  No Frenchman is an American.
CPIeT IS T SR |
[ F = The set of all Frenchman

A = The set of all American]



h)  What is cross product?
Cross product FI(F (T ?

1)  Canyou give an example of a family relationship
which is an equivalence relation in the set of all
persons?

AN e @3 @A sAfcafFre 9u= F @i Snizad
meT T T AN TAET A AN A~
2(q°?

j)  What is Reflexive Relation?
Reflexive 3% BT A0 2

k)  Distinguish between words and terms.

<1 @ 2 T #1469 |

1)  What is singular term?
18 =in i e 2

m) What do you mean by the denotation of a term?
(I 2 TSI 0 6 (=2

n)  What does Aristotle mean by property of a term?
TofeTe Te10e Sifbhe 6 IR 2

2. Answer any four questions: 5%x4=20

@-CFICT BAfS 2o Ted vie ¢
a) Provethat (A)JAcAe A=4].

@8 @, (A)[ACAe A=A]
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b)

d)
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What are the domain, counter domain and field
of the relation of being a grandfather? Is the
domain of the relation of being a grandfather a
proper subset of the domain of the relation of

being a father? 25+23

Ao 79 ¢Fc@ domain, counter domain
93k field fefy ¥ fPro™cEg 71Fa domain &
{911 7=9/($q domain € proper subset 2(® (3 ?

Are the following assumptions mutually
consistent? [By Venn diagrams]

I SRFTofeT 2Rz sicaifosd e cexibias
TG (el

C#An
ANB#A
ANC=Aa
(ANB): C=A

1)  Let A=[Napoleon, Wellington]. Can you
give an example of a relation which is

irreflexive, symmetric and transitive in A?

ofsl 5 @3 @35 7~oiF= Swizge e il
Tl irreflexive, symmetric @3R transitive
209 AE A A7 CFea 2



3.  Answer any two questions:

11)  Give an example of a family realtionship
which is both transitive and intransitive.
3+2

NI T 9 Sriggd wie T @I
transitive @3¥ intransitive 21 |

Distinguish between term and a name.
AR AN AR /18 T4 |

What is definition? Explain the rules of
definition.

eee! 2 @7 Mamele Jeeweet e F91
10x2=20

@-ie g6 eeas Ted vie ¢

a)
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A, ={1,2}
A, ={n}
R={(1,2).(27)}
1)  Is R a subset of the Cartesian product
A xXA?
R & wl08fer product A x A, 9= G 209
Al
ii)  Is D(R) a subset of A|?
D(R) & A 991 G 209 AN 2
iii) Is C(R) a subset of A?
C(R) & A a9 Tt 7t #ATca 2
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b)
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1v) Is F(R) asubset of A, UA,?
F(R)fF A, UA,-a3 ST 21w #ita e

A = the set of all Positive integers

B = {3, 5{
C=1{2,4{
D={1, 2{
A = 38 L LA A
B = {3, 5{
C=1{2,4{
D={1, 2{

Find the following:

i) (BuC)n(BuD)
ii) A:(CnD)

iii) (A: C)U(A: D)
iv) (CuD)~B
fcre el foedf <= ¢

i) (BuC)n(BuD)
ii) A:(CnD)

iii) (A: C)U(A: D)

iv) (CuD)~B
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c)

d)
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Whatis Logical Division? Explain with example
the rules of Logical division.

—

@fes eled I e 2 Taigdd 72 @ifes
frereEs Sl seEsa 39|

What is Predicables? Explain the different types
of predicables according to Aristotle.

s i e miPesETe st [(fer aorg
R4T D T



